Patent Pending

E3 Arm Mount Installation Instructions FINELITE"

Overview

Better Lighting

- All power connections should be installed according
N OTES to local/national codes by a Certified Electrician.

- This installation requires proper support as each
luminaire is being installed.

> D0
e [=]
HELPFUL 0-10V
VIDEOS Dimming

Step 1
Identification & Preparation
Page 2
J Step 2
Arm Mount Installation
Page 3 Step 3

Remote Power Supply
Page 6

A brand of L] Iegrand This is a hypothetical build to show the capabilities of this luminaire family and mount type. Your build may vary. Finelite, Inc. = 30500 Whipple Road = Union City, CA 94587-1530 - (510) 441-1100 - Fax: (510) 441-1510  www.finelite.com 1 Of 7

22/90 :31va IAILOI443 LA ‘50986 W04 *AIAHISIH SLHHDIH TV "ONI 'JLITINIL 2202 @



FINELITE

Better Lighting

E3 Arm Mount Installation Instructions
Step 1 - Identification & Preparation

A. Identify Luminaires

Arrange luminaires in order
according to ID# at their
install locations.

CAUTION

Factory Order Unique Luminaire
Job Name Number ID Number
| | |
o o

ABC Corporation - A12345
—@E3 - AM - WW-D
E3 - AM - WW-D - 2'?v -835

®
ID: 1
A R

B. Identify Luminaire

Protective Bag

C. Identify Power Supply Location

N OTE « All power in junction box should
" be turned off during installation

Remote Power Supply Location

Luminaire Type Full Catalog Luminaire
Order ID Section Type Above Ceiling Option 1/ Option 2
Other Accessible Area Option 3
ID Labels

- Identify all luminaires by their ID label that can be found on the box and inside the luminaire. - Identify power supply location.

- NOTE: Exact location of labels in these areas may vary. - Power supply should be installed in an accessible area. For T-bar mounting, install above ceiling panels
- Remove all luminaires from their box. and below insulation for best lifetime performance. For hard ceiling / drywall mounting install in nearby
- Refer to Record Drawings that can be found in the hardware kit. - Remove Bag service closet.

Kitted Hardware

- Finelite has provided items
listed here, with their Finelite
part numbers. These items

4" Canopy with Slip Ring
Part# 89431

Luminaire Installation

Housing Bracket
Part# 68271

Luminaire Installation

Stem Locknut
Part# 94093

Arm Mount Installation

: . 3-5, Step 2 . 3-4, Step 2 .3, Step 2
can be found in separate b b . g’ . v
boxes shipped with the
Iuminairepp Wall Stem Bracket #6-32x3/16" screw Knurled Nut
' Part# 68212 Part# 94144 Part# 94278
- Account fOlI’ all palrts Luminaire Installation \ @h Lu|3n:5nals|tre Ir;stallatlon Arm Mount Installation
and set aside until they p. 3-5, Step 2 & p. 39, Step p.3,Step 2
are needed. Remote Power Supply
p. 6-8, Step 3
- All other hardware needed Threaded Arm
for this installation will be by :; - Ear;’; gglg'om P06 Power Supply Box
others. wrer Part 68129

Luminaire Installation
p. 3-5, Step 2

Remote Power Supply

— p.6-8,Step 4

2 of7

22/90 :31va IAILOI443 LA ‘50986 W04 *AIAHISIH SLHHDIH TV "ONI 'JLITINIL 2202 @



E3 Arm Mount Installation Instructions FINELITE
Step 2 - Arm Mount Installation

Better Lighting

A. Find Mounting Locations B. Attach J-Box Bracket C. Assemble Arm Mounts
Stem Locknut
N OTE . All power in junction box should (provided)
* be turned off during installation
J-Box Stem Locknut
(by others) (provided)
O
J-Box Screws X4 S
(by others) —é@ -7 )
312" OCT J-Box e
by others
Wall Stem
Bracket
Wall Stem Bracket (provided)
. . <9k ﬁ (provided) Stem Locknut
Dimension A (provided) Canopy with
l Slip Ring
______________________________________________________________________________ Threaded Arm (provided)
Side view PN (provided)
Q!
4 Knurled Nut
MOUNTING SPACING BY LUMINAIRE LENGTH _
N (provided)
LUMINAIRE LENGTH DIMENSION "A"
2-ft 30 %" Wall Stem Bracket C
— - 3/4 (provided) i stem 'rcr;o:nt adapter
- 4 ®— J-Box (provided)
6-ft 82" ~5° Angle -- (by others)
8-ft 106" B
- Determine mounting location and install Junction boxes to structure. - Attach threaded arm mount to bracket with nuts.
- Secure bracket to J-Box with 2x #6-32x3/16" screws. - Slide 4" canopy to wall and secure with attached slip ring.
- Ensure J-boxes are sqaure and level with structure. - Use J-box screws to attach wall stem bracket to J-box. Bracket will rest at a slight angle. - Secure stem mount adapter to arm mount with round knurled nut and nut.
O 4" Canopy w/ Slip Ring [ Wall Stem Bracket Stem Mount Adapter Threaded Arm J-Box Screws = Set Screw Knurled Nut @ Stem Locknut
N~—— (provided) (provided) (provided) (provided) & (by others) = (provided) g (provided) (provided)
3 of7

22/90 :31vAd JAILOI44T LA 60986 Wiod *dIAHISIH SLHODIH 11V "ONI ‘ILITANIL 2202 ©



E3 Arm Mount Installation Instructions FINELITE
Step 2 - Arm Mount Installation

Better Lighting
F. Secure Screw to Adapter

WIRING LEGEND #6-32x3/16"
Red Positive (+) | DC Voltage (provided)
Black Negative (-) DC Voltage #6-32x3/16"

(provided)

DC Wires

Pivot lumiaire top to

Arm Mount bottom to lock into place

Adapter
(provided)

Threaded Arm
(provided)
~ - - >
- Insert power wires into stem and feed into J-Box. - Pivot fixture onto stem adapter. - Secure 2x #6-32 x 3/16" locking Screws using #2 Philips Screw Driver.
Ely5E
#6-32x3/16" Screw Eﬁ
. 0-10V
(provided) Dimming
4 of7

22/90 :31vAd JAILOI44T LA 60986 Wiod *dIAHISIH SLHODIH 11V "ONI ‘ILITANIL 2202 ©



E3 Arm Mount Installation Instructions FINELITE
Step 2 - Arm Mount Installation

Better Lighting

G. Pivot Arm H. Position Canopy I. Check Position
Loosen to level
Set Screw
pe (provided)
o ﬁ’ A
I N
- J-Box Screw —@
‘ (by others)
: Slip Ring
N .
o (provided)
’ ]
o B Wall
|
Wall Stem Bracket /
(provided)
@ 4" Canopy
y (provided)
= T /
J-Box
- Use a1/16" hex key to lock lock wall stem bracket in place with set screws.
- Loosen top J-Box Screw to pivot arm until level. - Slide canopy to cover J-box and lock slip ring. - Check that luminaire is angled properly to illuminate wall.
<=3
= Set Screw

= (provided)

5 of 7

22/90 :31vAd JAILOI44T LA 60986 Wiod *dIAHISIH SLHODIH 11V "ONI ‘ILITANIL 2202 ©



E3 Arm Mount Installation Instructions
Step 3 - Remote Power Supply

All Options

DC WIRE GAUGE SUGGESTION WIRING LEGEND

85 50 Hot Line Voltage

12 81 100 Neutral Line Voltage
i 150 Ground

” ‘Zj 12% Dimming 0-10vDC
13 150 Dimming 0-10v DC
17 50 DC WIRING

18 13 100 Positive (+) DC Voltage
9 150 Negative (-) DC Voltage ?

#6-32x3/16" screw
(provided) .-

\

- Lift panel to access above T-bar ceiling -OR- Place power supply box in accessible area (by breaker panels in service closet)
- Secure two #6-32x3/16" screws to secure power supply.

Option 10n Wall

DC splice to conduit

DC wires

on wall, above T-bar ceiling

W

Z
Ly

il

a
A
<4

IIIlIl|I|l|||I|||||I|||I||III||||l|||||l||llllllllll[[[”,//
iy,

J-Box
(provided)

- Make electrical connections to conduit (by others).
- Connect power supply box to building power.

- Complete wiring splice inside J-Box.

- Turn on power to luminaire to test proper function.

Dimming wires
(pink, purple)

(black, red)

P06 Power Supply Box
(provided)

=5
T

FINELITE

Better Lighting

AC splice to building power

behind wall, below T-bar ceiling

Splice inside J-Box

AC wires

(black, white, green)

#6-32x3/16" Screw

P06 Power Supply Box
& (provided)

(provided) Q

6 of 7

22/90 :31vAd JAILOI44T LA 60986 Wiod *dIAHISIH SLHODIH 11V "ONI ‘ILITANIL 2202 ©



E3 Arm Mount Installation Instructions
Step 3 - Remote Power Supply

Option 2 Between Grid

DC splice to conduit AC splice to building power

Dimming wires
(pink, purple)

DC wires
(black, red)

P06 Power Supply Box
(provided)

on caddy, above T-bar ceiling AC wires

(black, white, green)

2 ¢
iy

il
> g—

7S

';

512 HD Caddy
(by others)

Q

L mllllﬂ[,/,/,/l////
///_

/ %7
2 behind wall, below T-bar ceiling

FINELITE

Better Lighting

Option 3 Accessible Area

DC splice to conduit AC splice to building power

Dimming wires
(pink, purple)

DC wires
(black, red)

P06 Power Supply Box
(provided)

VB N _
in service closet WY AC wires
§\ ' (black, white, green)
2,
e

/]
//%

Ry

J-Box J-Box ‘ X
(provided) (provided) ‘Kﬁs
/\‘e
0,
Splice inside J-Box Splice inside J-Box

behind wall

- Make electrical connections to conduit (by others). - Make electrical connections to conduit (by others).

- Connect power supply box to building power. - Connect power supply box to building power.

- Complete wiring splice inside J-Box. - Complete wiring splice inside J-Box.

- Turn on power to luminaire to test proper function. - Turn on power to luminaire to test proper function.

P06 Power Supply Box

(provided)

7 of 7

22/90 :31vAd JAILOI44T LA 60986 Wiod *dIAHISIH SLHODIH 11V "ONI ‘ILITANIL 2202 ©



